1. REHE
(1B R

(2)ABRE IR e RR #E £R 258 KR LB S 8FE Fid

(3)EAEH

(4) ZEBREH

(5) ZE&E

2. ABHIERE

3. AREDHE

(1) EBEH

(2)EHE

(3) Tt

(4) Dt

THSEE EEFDEREEELHBOME

FER25FE11H178(B)

BIAE
=N 41064
B 2,9694
oy 11374
= *’ 5t ., EE+THE
Xgﬁ%ﬁ ° ﬂ%ET%%I
21K 3,946% 1,9014
B 28514 1,34744
e 1,095% 5544
21K 96.1%
B 96.0%
Lo 96.3%

A0RS 28R Ll EIEfEL =&

(BETHEBETHEE. 3624 LU EIEFRLT-F&)

5 55, SETHE
21K 3,3864% 1,689%
Bif 2,495% 1,21944
i 8914 4704
- 55, SETHE
BRE  |gTaens
21K 85.8% 88.8%
Bt 87.5% 90.5%
4 81.4% 84.8%
Y FE
21k 39.35%
Bt 40.05%
peg i 3758
e A EEER 821% =2
RELVEREFR 207% AR

Tri2651A22H



THSEE BERTHEREEELHBREMMERL

R i

A&

LR

145

(1=

230

R

1,752

Pl

200

&R

151

BEE

296

PN

586

N

124

A

127

& ]

432

R

63

410644

ER]



